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 ài 2:   ài 49      

M = x
2
 – 2xy + 5x

2
 – 1  

    = 6x
2
 – 2xy – 1 

                  2 

N = x
2
y

2
 – y

2 
+ 5x

2
 – 3x

2
y + 5 

                   

 ài 3 :  bài 50      
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 ài 4 :  bài 51      

a) Thu  ọ  v  sắp xếp   eo  ũy   ừ   ă    ủ   iế   
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 ài 6:  

- Lượ    ướ     y     nhất lấy  i: 1000.60% = 600 (m
3
)              

- Lượ    ướ     y     hai lấy  i: (1000 – 600). 
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- Lượ    ướ   ò   ại trong bể : 1000 – (600 + 250) = 150 (m
3
)      

- Lượ    ướ   ò   ại bằng 
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 ài 7: Giá      ầu củ   ivi   : 16 200 000 x 90% = 18 000 000 ( ồng) 

 ài 8:  iá máy  ạnh sau khi giảm  iá   : 12 000 000 x 80% = 9 600 000 ( ồng) 


